
 

 

 

April, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 1 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

T60 REGULATOR REPAIR KIT 
INSTRUCTIONS 

 

This PPI covers the repair of Series I and II T60 regulators using either a minor or major repair kit.   
 
Important:  Any maintenance, service or repair 
should be performed by trained and experienced 
service technicians.  Proper tools and equipment 
should be used to prevent injury to the servicing 
technician, property or system components.  Service 
repairs should always be performed in a safe 
environment and the technician should always wear 
protective clothing and eyewear to prevent injury. 
 
The IMPCO PPI-68 repair kit instructions will provide 
the technician information to successfully repair 
Model T60 regulators.  Always inspect the major 
casting pieces for damage, corrosion or cracks 
before attempting a service repair.  Refer to the 
illustrations at right to properly identify the T60 as a 
Series I or II. 
 

NOTE:  The T60 Series I uses imperial screws and 
the Series II uses metric.  Extra imperial and metric 
screws are included in the repair kitsðbe sure to use 
the correct screws when reassembling the regulator. 
 

NOTE:  Although identical in dimensions and 
appearance, the primary and secondary seats are 
made of different material.  To differentiate the two 
seats, the secondary seat is red in color, or black but 
marked by a small white dot. 
 

 

Do not use Teflon tape to seal any fuel 
fittings.  Fragments of the tape may enter 
into the fuel system, causing damage or 
malfunction of critical fuel system 
components that may result in serious 
injury and/or property damage. 

 

Part # Description

T60-RK Repair Kit-Minor

T60-RBK Repair Kit-Major

REPAIR KIT PART NUMBERS

 

 
T60 Regulator, Series I 

 

 
T60 Regulator, Series II 

 



 

Sept, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 2 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

MODEL T60 REGULATORS 
 

Item # P/N DESCRIPTION 

P3-13 PLUG, 1/8-27 NPT* (1) (SERIES I)

P3-16699-001 PLUG, 1/8 SOCKET HEAD STEEL (SERIES II)

2 NSS CASTING, REGULATOR BODY 

3 NSS DIAPHRAGM ASSEMBLY* (1), (2)

4 NSS COVER, PRIMARY REGULATOR

5 NSS SPRING, PRIMARY* (1)

6 NSS SCREW, RETAINER, ADJUSTABLE SPRING

7 P3-17956-8 PLUG, EXPANSION* (1), (2)

8 60-4 SPRING, PRIMARY LEVER* (1)

LEVER ASSY, PRIMARY* (1), (2) (SERIES I)

LEVER ASSY, PRIMARY (SERIES II)

SCREW, FIL HD, 10-32 UNF-2A x .31 L (SERIES I)

SCREW, M5 x 0.8 7.9 FIL HD, TORX (SERIES II)

11 NSS BRIDGE, PRIMARY

12 NSS PIN, PRIMARY PIVOT* (1)

SCREW, 10-32 x.62 TORX* (1) (SERIES I)

SCREW, TORX TAMP RES M5 X16MM* (1), (2) (SERIES II)

14 NSS ORIFICE, PRIMARY REGULATOR (SERIES I)

15 NSS DIAPHRAGM ASSEMBLY, VACUUM LOCK* (1), (2)

16 NSS SPRING, VACUUM LOCK* (1)

17 NSS DIAPHRAGM, SECONDARY* (1), (2)

COVER ASSY (SERIES I)

COVER ASSY W/PRIMER (SERIES I)

COVER ASSY (SERIES II)

COVER ASSY W/PRIMER (SERIES II)

COVER ASSY, W/PRIMER & MTG TABS (SERIES II)

COVER ASSY, W/MOUNTINGS TABS (SERIES II)

SCREW, PAN HD 10-32 x .38* (1) (SERIES I)

SCREW, TORX TAMP RES M5 X16MM (SERIES II)

20 60-16 RING, VACUUM LOCK 

21 NSS SPRING, SECONDARY LEVER* (1)

22 NSS PIN, SECONDARY PIVOT* (1)

LEVER ASSY, SECONDARY* (1), (2) (SERIES I)

LEVER ASSY, SECONDARY (SERIES II)

24 NSS ORIFICE, SECONDARY REGULATOR (SERIES I)

S1-17367 SCREW, ADJUSTMENT (SERIES I)

NSS SCREW, ADJUSTMENT* (1) (SERIES II)

26 NSS LABEL

27 400-25 VALVE, NEOPRENE* (1), (2) (SERIES I)

28 NSS WASHER, COPPER* (1), (2) (SERIES I)

29 NSS PLUG, WATER CORE (SERIES I)

30 NSS PLUG, FREEZE .50 DIS. X .38* (1)(SERIES II)

SCREW, PAN HD, 10-32 UNF-2A X .25 L* (1) (SERIES I)

SCREW, TORX TAMP RES M5 X16MM* (1) (SERIES II)

32 P3-17956-1 PLUG, EXPANSION* (1), (2)

33 NSS GASKET, DIAPHRAGM* (1), (2)

34 W1-5 WASHER, SPLIT LOCK* (1) (SERIES I)

35 NSS SCREW, FIL HD 1/4-28 UNF-2A* (1) (SERIES I)

36 NSS WASHER, COPPER-SPECIAL (SERIES I)

37 NSS SEAT, T60* PRIMARY (1), (2) (SERIES II)

38 NSS SEAT, T60* SECONDARY (1), (2) (SERIES II) WHITE DOT

NSS

31 NSS

NSS

NSS19

25

23

18

1

NSS

10 NSS

13

NSS9

 

NSS=Not Sold/Serviced Separately 
*Repair Kit. (1)=T60-RBK; (2)=T60-RK 

 
Note that some components will vary among the different 
T-60 Models. 



 

 

 

April, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 3 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 
 

Series I Levers                      Series II Levers & 
                                               Replaceable Seats 

 
The primary and secondary levers and seats 
in the Series I and Series II regulators are 
different and are not interchangeable.  The 
Series I seats are permanently mounted and 
included preassembled with the levers in the 
repair kits.  The Series II seats are replaceable 
and are also included in the repair kits (the 
original levers are reused).  Be sure to 
properly identify the regulator and correct 
lever and seat prior to assembly. 

 

 
DISASSEMBLY INSTRUCTIONS 

 

 

1.  Remove the ýve cover screws (13) and washers (34) 
(Series I only), then lift the cover (18) off the 
regulator body (2) and secondary diaphragm (17).  
The cover may stick to the diaphragm.  If necessary, 
tap on the edge of the cover with a screwdriver 
handle or a soft face hammer to loosen the cover. 

 
Note: Do not attempt to use a screwdriver or other 
object to pry between the cover and the body.  Prying 
with sharp objects may damage the sealing surface, 
rendering the regulator unusable. 

 

  

 

2. After the cover (18) has been removed, lift up an 
edge of the diaphragm (17) and observe how it is 
attached to the secondary lever (23).  If equipped 
with a vacuum-lock diaphragm (15), depress the 
vacuum diaphragm and slide the diaphragm off the 
lever. 

 



 

Sept, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 4 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 

3. Loosen the two screws (31) holding the secondary 
lever pivot pin (22) in place and remove pin, lever 
(23) and spring (21). 

 

  

 

Vacuum Lock Models Only (Skip to Step 5 for 
models without a Vacuum Lock): 
 
4. Remove the four screws (19) holding the vacuum-

lock ring (20) and diaphragm (15) in place.  Lift ring, 
diaphragm and spring (16) from regulator body (2). 

 

  

 

5. Remove the expansion plug (7) by drilling a small 
hole in the plug, carefully threading in a small sheet 
metal screw, then pulling the plug out using a slide 
hammer (as shown in the photo of Step 11).  Once 
the plug is removed, also remove the primary 
pressure adjusting screw (6) and spring (5). 

 

 
Use care when drilling the expansion plug 
hole by not drilling further into the retaining 
screw.  

 
 



 

 

 

April, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 5 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 

6. Remove the ýve primary cover screws (13) and 
washers (34)(Series I only), then lift the cover (4) off 
the regulator body (2). 

 

 

7. Remove the cover (4), gasket (33) and primary 
diaphragm (3).  Note that the primary diaphragm 
requires spinning 90 degrees to remove the primary 
diaphragm pin from the primary lever (9). 

  

 

8. Remove the two screws (10) holding the primary 
lever bridge (11) in place. 

 



 

Sept, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 6 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 

9. Remove primary lever (9), pivot pin (12) spring (8), 
and primary bridge (11). 

 

  

 

Series I only (Skip to Step 11 for Series II) 
 
10. Remove the water core plug (29), copper washer 

(28) and neoprene plug (27) from the regulator 
body (2). 

  

 

Series II only (Skip to Step 15 for Series I) 
 
11. If the freeze plug (30) shows signs of corrosion or 

leakage, replace it with a new plug included in 
repair kit.  To remove the freeze plug, drill a small 
hole into its center, thread in a sheet metal screw 
and remove using a slide hammer. 
 

 

Use care when drilling the freeze plug hole 
by not drilling further into the regulator body.  

 
 



 

 

 

April, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 7 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 

12. Remove the seats (37) of both the primary lever 
(9) and secondary lever (23) by cutting off the nub 
on the back of the seat. 

 

REASSEMBLY OF REGULATOR 
 

¶ Carefully clean and inspect all metal parts to be reused, including springs, levers, pivot pins and 
screws.  Replace all parts that are included in the repair kit. 

¶ Carefully clean the regulator body and inspect for cracks, corrosion or damage and examine the 
primary and secondary orifices for nicks, scratches or uneven wear.  If any of these conditions are 
found, the regulator is not rebuildable and must be replaced. 

¶ Wipe with a clean rag and inspect the primary section for foreign materials that might loosen and 
damage the soft face valves.  

¶ Clear out the inlet and outlet passages with compressed air, including the atmospheric vent 
on the secondary cover. Be sure no foreign material remains in these passages.  

 

 

Series II only (Skip to Step 3 for Series I) 
 

1.   Inspect and identify the primary and secondary 
seats (To differentiate the two, the secondary seat 
is either red, or black but marked with a white dot).  
Do not swap the seats. 

 

  
Primary Seat Secondary Seat 

 

      Press the primary (37) seat into the primary lever 
(9) and secondary seat (38) into the secondary 
lever (23), ensuring that both are properly seated. 

  

 

2.   Apply Loctite 680 or equivalent to the perimeter of 
the freeze plug (30), then press in so the opened 
end is flush with the regulator body (2). 



 

Sept, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 8 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 

 

Series I only (Continue to Step 4 for Series II) 
 
3.   Insert the neoprene valve (27) with the cupped or 

open side down into the water core plug (29) and 
press all the way in until it contacts the back of the 
relief plug.  Apply Loctite 567 or equivalent sealer 
on the threads of the relief plug, then slide the 
copper gasket (28) over the relief plug and insert 
the plug assembly into the regulator body (2).  
Torque to 25 ±5 ft. lbs. (33.9 ± 6.8 NÅm). 

 

 

Vacuum Lock Models Only (Skip to Step 7 for 
models without a Vacuum Lock): 
 
4.   Place the vacuum lock spring (16) into the recess 

of the regulator body (2). 

  

 

5.   Place vacuum lock diaphragm (15) on top of 
spring (16), and position so the wide edge of the 
gasket is seated on the bottom (6 oôclock) position 
of the regulator body (2), while making sure the 
spring is properly seated over the diaphragm 
spring perch.  Place the vacuum lock ring (20) 
over the diaphragm (15) rotating it to the same 
position as the diaphragm and align with screw 
holes.  Insert four screws (19) and tighten evenly 
to 25 in. lbs. Ñ5 in. lbs. (2.825 NÅm Ñ 0.565 NÅm). 



 

 

 

April, 2019 IMPCO Technologies PPI-68 REV. E 
 3030 South Susan St. Page 9 of 15 

Santa Ana, CA 92704 
www.impcotechnologies.com 

3030 S Susan Street, Santa Ana, CA 92704 

Ph: +1 714 656 1200    Fax: +1 714 656 1400 

 

6.   Push down on the vacuum-lock diaphragm (15) 
and hold a ýnger over the vacuum connection on 
the front of the regulator (below ñVACò on the 
regulator face).  Release the diaphragm and the 
diaphragm will stay depressed and down against 
the regulator body (2) if there are no leaks.  Pull 
up on the center of the diaphragm assembly for 
further leak inspection.  Release your ýnger 
sealing the vacuum port and the diaphragm will 
rise with spring pressure.  If the diaphragm rises 
when the vacuum connection is sealed, a leak 
exists.  Inspect the diaphragm for tears and the 
regulator body (2) for damage.  If the diaphragm is 
torn, it must be replaced.  If damage is found in 
the regulator body, the regulator cannot be 
serviced and must be replaced. 

  

 

7. Place secondary valve spring (21) in the spring 
recess of the regulator body (2) near the 
secondary oriýce. 

  

 

8. Place a small amount (thin film) of petroleum jelly 
(Vaseline) on the surface of the secondary seat.  
Install the secondary lever (23), pivot pin (22) and 
two screws (31).  Tighten screws evenly to 25 in. 
lbs. Ñ5 in. lbs. (2.83 NÅm Ñ 0.57 NÅm). 


